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QUESTION 1

What are three key benefits of VMware SD-WAN? (Choose three )
A. Provision Edges in minutes

B. Automated configuration of cloud resources

C. Remove requirement of Edge devices

D. Gain visibility across any link

E. Layer 2 VPNs between sites

F. Reduce the burden on MPLS

Correct Answer: BCF

QUESTION 2

A network architect from a service provider is designing an architecture using a VMware SD-WAN Partner
Gateway handoff.

Which dynamic routing protocol should the engineering choose?

A. RIP Version 2

B. OSPF

C. Static

D.BGP

Correct Answer: A

QUESTION 3

What Is a typical use case for the deployment of a VMware SU-WAN Partner Gateway?

A. Provide connectivity between multiple enterprise customers over private circuits

B. Get improved flow analytics for all traffic in the SD-WAN network

C. Interconnect branches/remote sites of a single enterprise customer to the internet

D. Provide mite transport m a service provider backbone tor interconnecting a global customer SD- WAN branches.

Correct Answer: D
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QUESTION 4

Which three authentication mode options ate valid for use on the VMware SD-WAN Edge? (Choose three.)
A. Certificate Enabled

B. Certificate ate Optional

C. Certificate Disabled

D. Certificate Activated

E. Certificate Accepted

F. Certificate Requited

Correct Answer: ACE

QUESTION 5
Which statement is true about the VMware SD-WAN Gateway roles and assignments?

A. Primary Gateway cannot be used as Super gateway for Edge-to-Edge communication, even it all the Edges have a
common Primary gateway

B. The SD-WAN Orchestrator assigns the Gateways to the Edge automatically when it comes up based Oil (lie location
of the Edge Branch-to-branch will choose the right Gateway automatically

C. If the Primary Gateway goes down. Cloud internet traffic would failover to Secondary gateway automatically
D. The Primarily and Secondary Gateways share the load fur both internet traffic and VPN traffic

Correct Answer: A
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